N = 0l & At & Ml A

2015 = =0 & LA 22

2N 230
Ha: A3 AAZY)
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301 LA Z 37,130 37,130 0
058 -0 -tHESEHS 37,130 37,130 0
O ol&=¢ 36,080
—Jl2=¢ 200,000& = 119 » 128 26,400
— &0z 200,000& = 11H « 23| 4,400
—sloEga g
20,000& = 11 = 23 ~ 123 5,280
O gt 50,000& = 219 1,050
FUHEHXA 7,600 7,600 0
301 et a = 7,600 7,600 0
09 AL HIZ A S 7,600 7,600 0
Ou=s - 2l2 FAA 224
10,000& * 360H 3,600
O=glo & FHotdx B4 10,000& * 200 2,000
OMoi== &EItA 24 10,000& = 200 2,000
sz 2,400 2,400 0
204 AR HH| 2,400 2,400 0
03 EZ YR 2,400 2,400 0
ONSREES2H 100,000& * 29 » 12& 2,400
A Y Z2ZA4 2Zel 76,733 95,468 A 18,735
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101 @124 dl 14,625 13,656 969
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O&E At 2el 14,625
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01 At 22/l 1,584 1,584 0
Oget=gH| 1,584
— EAMNRZH BE= 132,000& * 12& 1,584
02 =24l 11,000 11,000 0
O =zl 3,000,000& 3,000
OA&ZEH ®Xdl 3,000,000 3,000
OXt& & Byl 5,000,000& 5,000
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